Weimar and Nazi Germany – GCSE Questions

Causation questions – 12 marks
Explain why there were challenges to the Weimar Republic in the years 1919 – 1923. [12]
Explain why so many Germans opposed the Treaty of Versailles.  [12]
Explain why there were economic problems in the Weimar Republic from 1919 – 1923.  [12]
Explain why the Weimar Republic recovered in the years 1924 – 1929.  [12]
Explain why 1924 – 1929 was a golden age in the Weimar Republic.  [12]
Explain why Hitler carried out the Munich Putsch.  [12]
Explain why the Munich Putsch 1923 failed.  [12]
Explain why there was increased support for the Nazis in the years 1929 – 1932. [12]
Explain why Hitler was able to increase his control over Germany between 1933 and 1939.  [12]
Explain why the police state was a success in removing opposition to the Nazi regime.  [12]
Explain why the Nazis tried to control the Church in Germany.  [12]
Explain why sport changed under the Nazis in the years 1933 – 1939.  [12]
Explain why there were changes to the lives of young people in Nazi Germany in the years 1933 – 1939.  [12]
Explain why there was a great reduction in unemployment in Germany in the years 1933 – 1939.  [12]
Explain why there were changes in the lives of German people in Nazi Germany in the years 1933 – 1939.  [12] 
Explain why the Nazis wanted to control education and youth movements in the years 1933–39. [12]
Explain why there was so little resistance and opposition to Hitler and the Nazis and Germany in the years 1933 – 1939.  [12]
Explain why Hitler was able to create a dictatorship in Germany by August 1934. [12]
Interpretation – possible questions/ topics
Golden Age of Weimar – ‘There was a Golden Age in Germany 1924 -1929’.  How far do you agree?
Munich Putsch – ‘The Munich Putsch was a success for the Nazi Party’ How far do you agree?
Hitler becomes Chancellor – ‘The Depression/ Propaganda/ Fear of communism  was the main reason why Hitler became Chancellor of Germany in 1933’.  How far do you agree?
Consolidation of power – ‘The Reichstag Fire/ Enabling Act/ Night of the Long Knives was the main reason for Hitler’s consolidation of power in Germany to 1934’.  How far do you agree?
Nazi control – ‘Terror/ propaganda was the main reason for Hitler’s control of Germany from 1933 – 1939’.  How far do you agree?
Nazi attitudes to women – ‘Women’s lives improved in Hitler’s Germany from 1933- 1939’.  How far do you agree?
Young – ‘The Nazi regime was popular among young people’.  How far do you agree?
Opposition – ‘There was no opposition in Nazi Germany’.  How far do you agree?
Employment and living standards – ‘The lives of ordinary Germans improved under the Nazis’.  How far do you agree?


